Section 2.8 Homework 1 Problems

14. See Figure 1 in Section 3.4

15. ¥
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The slope at 0 appears to be 1 and the slope at 1
appears to be 2.7. As = decreases, the slope gets

closer to 0. Since the graphs are so siular, we might

guess that f'(z) = e*.
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Domain of G = domain of G’ = (—o0, —1) U (—1, 0o).
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Section 2.8 Homework 1 Problems

29. (a) U'(t) is the rate at which the unemployment rate is changing with respect to time. Its units are percent per year.
U(t+h)—U(t) _Ult+h) —U(t)
h - h
U(1994) — U(1993) 6.1 —6.9
1994 —1993 1
For 1994: We estimate U'(1994) by using » = —1 and h = 1, and then average the two results to obtain a final estimate.
U(1993) — U(1994) 69 —6.1

for small values of h.

(b) To find U’ (¢), we use r&in}]

For 1993: U’ (1993) ~ —0.80

h=—1 = U'(1994) ~ ———o—0r —— = —0.80;
_ y _U(1995) —U(1994) 56—6.1
h=1 = U(1994) » ——p——r— = =———— = —0.50.

So we estimate that T (1994) = 2[(—0.80) + (—0.50)] = —0.65.

t 1993 1994 1995 1996 1997 1998 1999 2000 2001 2002
U'(ty | -080 —-065 —-035 —-035 —-045 —-035 —025 025 090 110
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